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a) 13 kg 750g and 24 kg 500 g  b) 5 kg 5g and 7kg 17g 

 

 

c) 2kg 200g, 4kg 600g, 1kg  d) 4 kg, 10kg, 200g 

 

 

2. Write in columns and subtract: 

 a) 38kg 500g from 45kg 250g    b)   79kg 759g from 91kg 60g 

 

 
 

Competency:  Problem solving ability 

 

1. Solve these: 

 

 a) A vegetable - seller had 25kg of onions.  He sold 20kg 250g. 

  How much onions are left with him? 
 

 

 

 
 

 b) Mrs. Kapoor has 2KG OF NEEM POWDER.  She wants to put it into 

smaller packets of 200g each.  How many packets will she get? 
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Competency : Ability to Compute 

I. Add the following in columns: 


